BV I A=V 9T
5 1 ] = F 12585 EKF B E B

RG] " FHAATHRG- BEESERE -/ BETRERSEDLES HNG

(%5t ]

ARKb—FAF
I Tk ESD
RESEE 10/6 #EF @13:30 HE6E L HE
=GR E
‘ 10/6 &xF ‘
10/6 @12:00 10/6
BES BiES
™8:30 @10:00
T0/5 T0/5 T0/5
BES BiES B
312:00 @10:30 312:00
E C D
10/5 10/5
BES B
19:00 19:00
A B

SFi3t ol

[
Ll
]
H
=
7 1

30 )

Erdil 14
| 10/5 8% @10:30
)/ 0 \J )
== =% 8 1 = Hl " BH
A B C D E
A
A @9:00 A 211:00
B
A 19:00 B @11:00
C
B @11:00 B 19:00
D
B 19:00 A 313:00
E
A 211:00 A _313:00

RREOBHICOLWTIIXEEREMIS2R2 T OIRERETERELYVET,



